89 1024 x 335
DETAIL1
Scale 8:1
. e B
A VERSION
O.15REF, YEAR
[i50]PiTcH WEEK NUMBER
] SHELD B L J DAY
[SolprcH [050]
DETAILZ
Scale 10:1
EM GASKET METAL STYLE)
(OPTIONAL) WITH
(OPTIONAL)
FRONT PANEL MOUNT \_47REF, | LOCKING PANEL WITHOUT (DPTIONAL) WITHOUT
S8 M20 REF. FRONT PANEL MOUNT FRONT PANEL MOUNT

— | " SEE NOTE 5 —] SEE NOTE 4

8.0 REF.
B.8MAX,

1.0MAX,

Van
it
2AMAX. J

24

! =+ 1 +
| i i = « L
EM| GASKET (FOAM STYLE) L 645 41 8]
20TYPREF. | — (OPTIONAL) SOLDER POST
—/ |- SaREF. | (X2) OR (X4)
S7TYPREF, _| -
CRUSH PN ALIGNMENT POST (CPAP!

SEE NOTE 4

NOTES:
1 PRODUCT SPECFICATION PS-91525-001
40 x 20 REF, PACKAGNG SPECFICATIN PK-91803-001
| ppveiainlalle /_W . SCREW THREAD M20 X 04 PITCH TAPPED THROUGH, RECOMMENDED SCREW M2 X 04 PITCH,
LENGTH amm, WITH A PAN HEAD, RECOMMENDED TORQUE 03Nm MAX.
CPAP USED TO ALIGN THE SOLDER TALS WITH THE SOLDER PADS
SCREW THREAD M20 X 0.4 PITCH TAPPED THROUGH, RECOMMENDED SCREW M2 X 04 PITCH,
LENGTH Smm, WITH A PAN HEAD, RECOMMENDED TORQGUE 0.3Nm MAX
05 x 05 REF RECEPTACLE CONTACTS 127um MN NCKEL ALL OVER

SEE NOTE 7 CONTACT AREA 010 um MN GOLD OVER 076um MN PALLADIUM NICKEL
e W SMT AREA 3um MN TN.
. PCB DATUM B = B1+ BZ + B3
. PCB RETENTION OPTIONS:

2 OR 4 SCREWS, (4 FOR REAR MOUNT OPTION).
2 OR 4 SOLDER POSTS, (4 FOR REAR MOUNT OPTION).

wN

»

L

09 x 09 REF.

_
&

®N

{ } 9. LOCKING PANEL (91532) ONE PER CONNECTOR ORDER SEPERATELY. SEE SALES DRAWNG SD-91532-001
9, FOR 4X PARTS PLEASE REFER TO SD-91804-001 (FOAM GASKET) AND SD-91804-003 (METAL GASKET)
§§§ OUAL‘TY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
GROMND 25 see DETAILZ & 2 =53 |sywpoLs| (UNLESS SPECFIED) MM ONLY 5:1 METRIC | © CIpRGIECT ION
SIGNAL 48 g § § § mm INCH DRAWN BY DATE TITLE
SIGWAL 47 B3R SSF(5\W-0 [ZPIAGES[E—- [Z--- |WALSH 1711104 12X LATCH SALES DRAWING
I g E 3 PLACES [+ —- + - CHECKED BY DATE
— 385REF, Btz #5\&/-0 [2PLACES[E0.00 [=—  KDELANEY 18/11/04
n3E |4 TPLACE |£0.2 P — APPROVED BY DATE
sasrer ofE 8 bz WAt oSk MOLEX INCORPORATED
= % z & E MATERIAL NO. DOCUMENT NO. SHEET NO.
8- % DRAFT WHERE APPLICABLE[SEE SHEET 4&5| SD-91525-004 10F 5
Tooo< wiThie LREAN SZE ' THS DRAWNG CONTANS INFORMATION THAT IS PROPRIETARY TO MOLEX
D |z /| INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A1_P_AM_T
Rev. D 2004/06/28 ® * ” % k- % 3 2 " 10 9 8 7 ] | 5 | 4 | 3 2 | 1



475 825
4704005 320005
GROUND (N 38502005
3800

— N | R e
PO jo————
. i L N J
2 e SNNNAR

\
8.
“ AL
L @1s29Bh
YR,

| e
/- 7
NP
Sda N~ /
z /
| SE DETAIL4 -
Scale 71 —a]
SIGNAL 2
SIGNAL 1
NOTES:
1 REFER TO SHEET 1 FOR ANY UNSPECIFIED NOTES OR DMENSIONS.
2. AREAS OUTLINED TO BE FREE OF COMPONENTS
3. ALL HOLE SIZES ARE FINISHED HOLE SIZES.
4 FOR ANY UNSPECIFIED DMENSIONS OR NOTES SEE SHEET 1
5. RANGE OF PCB THICKNESSES: 16 TO 2.10mm INCLUSIVE. S=35[ [quALITY| GENERAL TOLERANCES DMENSION STYLE SCALE | DESIGN UNITS © ] JHIRD. ANCLE
LONGER SOLDER POSTS AVAILABLE FOR OTHER PCB THICKNESSES. =835 |syMpoLs| (UNLESS SPECIFIED) MM ONLY 8:1 METRIC PROJECTION
FOR FURTHER INFORMATION PLEASE CONTACT LOCAL SALES OFFICE. EE8 mm INCH | DRAWN BY DATE TITLE
6. THE DESIGN CAN ACCOMMODATE DIFFERENT VALUES OF THS DMENSION g 5SS 5\ W0 [LPLAGESE—- |z-— [DWALSH /11704 12X LATCH SALES DRAWING
BY VARYING THE EM| GASKET THICKNESS. FOR FURTHER NFORMATION NG |y o [BPLACESHE-—- [+---  [CHECKED By DATE
=z WBIN/=0 [2 PLACES[¥0.10 [+-—  [KDELANEY 18/11/04
PLEASE CONTACT YOUR LOCAL SALES OFFKE ITEERR=] L PLACESIE00 1+ KDELANET LI —
wSE 3|4 £0. £
o< 2 ANGULARE 2 ° |WALLACE 25/11/04 @8 MOLEX INCORPORATED
g z =] E MATERIAL NO. DOCUMENT NO. SHEET NO.
Hozxs DRAFT WHERE APPLICABLE[SEE SHEET 4&5| SD-91525-004 20F 5
nwoso<l wiThie LREAN SZE [ THIS DRAWNG CONTANS INFORMATION THAT IS PROPRETARY TO MOLEX
D g /|| INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A1_P_AM_T
Rev. D 2004/06/28 ® * ” % k- % 3 2 " 10 9 8 7 ] | 5 | 4 | 3 2 | 1



— OPTIONAL FEATURES

WITH FRONT PANEL MOUNT
P20 | an 235 | cPTONAD
— g /
L e
o (OPTIONAL)
X B B B B ) ) B FRONT PANEL MOUNT
EMI_GASKET
4370 SHIELD
— 46.70 RO30MAX.
(x8)
RECOMMENDED 12X PANEL CUTOUT
SCALE 31

CONNECTOR WITHOUT

—~ 1

]

(OPTIONAL) PCB
REAR MOUNTING HOLES

SOLDER POST OR
SCREWS (x2) OR (x4)

SEE NOTE 3

12X PANEL CUTOUT WITH
FRONT PANEL MOUNT

NOTES:
1 REFER TO SHEET 1 FOR ALL UNSPECFIEED NOTES AND DIMENSIONS.
2. FINAL ASSEMBLY DMENSIONS
3. PCB RETENTION OPTIONS:
2 OR 4 SCREWS, (4 FOR REAR MOUNT OPTIONS)

+04RECOMMENDED MACHNE
— PANEL THICKNESS
| MACHNE PANEL F::L——MZBEE-——
SEE
j NOTE 2
(OPTIONAL}
LOCKING PANEL WITH
FRONT PANEL MOUNT (OPTIONAL) 2 OR 4 SOLDER POSTS, (4 FOR REAR MOUNT OPTIONS)

LOCKING PANEL
—— MACHINE PANEL CUTOUT
CENTER LINE :ﬂ
l 4. LOCKING PANEL (9%532) ONE PER CONNECTOR ORDER SEPARATE SEE SALES DRAWING SD-91532-001
4 - - - 5. RECOMMENDED SCREW M2 X 0.4PITCH, LENGTH 8MM, WITH A PAN HEAD.
— J_I_l RECOMMENDED TORQUE 0.3 Nm MAX,
o T QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
| =S8 S| |syMBoLs| (UNLESS SPECIFIED) MM ONLY 5:1 METRIC | © CIpRGIECT ION
u

w
I
L] S
O ss8 M INCH | ORAWN BY DATE  [TTLE
T Ei R ESS5|\W-0 [PAmSE— [z [MALSH MI1104 12X LATCH SALES DRAWING
PCB RETENTION SCREW x2 OR x4 -3 E 3 PLACES |+ —- +-—- CHECKED BY DATE
(OPTIONALI. SEE NOTE 5 LeE & g V:O 2 PLACES|£0.10 |t--——  [KDELANEY 18/11/04
= = % + +--- APPROVED BY DATE
- CRUSH PIN ALIGWENT POST (CPAP) wes g P 02 e Wilae /110 felsx MOLEX INCORPORATED
(COMPRESSED) 3% z & E = MATERIAL NO. DOCUMENT NO. SHEET NO.
WoEYa DRAFT WHERE APPLICABLE[SEE SHEET 4&5| SD-91525-004 30F5
nooo < wiThie LREAN SZE [ THS DRAWNG CONTANS INFORMATION THAT IS PROPRIETARY TO MOLEX
D g /| INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A1_P_AM_T
Rev. D 2004/06/28 ® * ” % k- % 3 2 " 10 9 8 7 ] | 5 | 4 | 3 2 | 1



L1 %

10

12 LATCH I/0

REAR MOUNTS NO

PANEL MOUNTS| NO

SOLDER POSTS | NO

12 LATCH 1/0

REAR MOUNTS | YES

PANEL MOUNTS| NO

SOLDER POSTS| NO

PART NO. PACKAGING
91525-1210 TRAY
91525-8210 TAPE AND REEL

12 LATCH I/0

REAR MOUNTS | YES

PANEL MOUNTS| YES

SOLDER POSTS| NO

PART NO. PACKAGING
91525-1212 TRAY
91525-8212 TAPE AND REEL

PART NO. PACKAGING
91525-1214 TRAY
91525-8214 | TAPE AND REEL

12 LATCH I/0

REAR MOUNTS NO

PANEL MOUNTS| YES

SOLDER POSTS| NO

PART NO. PACKAGING
91525-1216 TRAY
91525-8216 | TAPE AND REEL

12 LATCH I/0

REAR MOUNTS NO

PANEL MOUNTS| NO

SOLDER POSTS 2

12 LATCH I/0

REAR MOUNTS | YES

PANEL MOUNTS| NO

SOLDER POSTS 4

12 LATCH I/0

REAR MOUNTS | YES

PANEL MOUNTS| YES

SOLDER POSTS 4

12 LATCH I/0

REAR MOUNTS NO

PANEL MOUNTS| YES

SOLDER POSTS 2

PART NO. PACKAGING PART NO. PACKAGING PART NO. PACKAGING PART NO. PACKAGING
91525-1250 TRAY 91525-1252 TRAY 91525-1254 TRAY 915251256 TRAY
91525-8250 TAPE AND REEL 91525-8252 TAPE AND REEL 91525-8254 TAPE AND REEL 91525-8256 TAPE AND REEL
§§§ QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD ANGLE
2Z235| |symBoLs| (UNLESS SPECIFIED) MM ONLY 251 ‘ METRIC | © CIpRoE(T 0N
§ § § mm INCH DRAWN BY DATE TITLE
NOTES: g SS3|W=0 [ZPIAGESE-— [#-— [WALSH 1711104 12X LATCH SALES DRAWING
1. REFER TO SHEET 1 FOR ALL UNSPECFIED NOTES AND DMENSIONS. : S_ Lk /-0 3 PLACESH—-— 4--- &HDEE[LKZTV;; D{%T/?Mm
2. REFER TO SHEET 2 FOR PCB LAYOUT wE= =8 21 ZLL/XCCEES fg;o I L —.
3. REFER TO SHEET 3 FOR OPTIONAL ASSEMBLY COMPONENTS AND DIMENSIONS. WeE gie ANCULAR Z 25 JMALLACE 2511104 folex MOLEX INCORPORATED
4 FOR 4X PARTS WITH FOAM GASKET PLEASE REFER TO SD-91804-001 ni= & ES S a s BN A TG
& . ; .
w==ce DRAFT WHERE APPLICABLESEE SHEET 485|SD-91525-004 4 OF 5
Nmos< WS LREAN s [SZE[ THIS DRAWING CONTANS INFORMATION THAT IS PROPRETARY TO MOLEX
D & | INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A1_P_AM_T
Rev. D 2004/06/28 ® * ” % k- % 3 2 " 10 9 8 7 ] | 5 | 4 | 3 2 | 1



METAL

R
@@d PACKAGING

T
NO SOLDER TRAY 91525-1211 91525-1213 91525-1215 91525-1217
POSTS TAPE & REEL 91525-8211 91525-8213 91525-8215 91525-8217
Dim H = 2.3 TRAY 91525-1251 91525-1253 91525-1255 91525-1257
T TAPE & REEL 91525-8251 91525-8253 91525-8255 91525-8257
Dim H = 3.3 TRAY 91525-1261 91525-1263 91525-1265 91525-1267
] TAPE & REEL 91525-8261 91525-8263 91525-8265 91525-8267
Dim H < 4.3 TRAY 91525-1291 91525-1293 91525-1295 91525-1297
T TAPE & REEL 91525-8291 91525-8293 91525-8295 91525-8297

NOTES:

1. REFER TO SHEET 1 FOR ALL UNSPECFIED NOTES AND DIMENSIONS.
2. REFER TO SHEET 2 FOR PCB LAYOUT

3. REFER TO SHEET 3 FOR OPTIONAL ASSEMBLY COMPONENTS AND DIMENSIONS.
4. FOR 4X PARTS WITH METAL GASKET PLEASE REFER TO SD-91804-003

02

2008/04/28

SEE SHEET 1
EC NO: E2008-0458

APPR:BMAGUIRE

QUALITY
SYMBOLS

O|DRWN:LK IERNAN

REV|

DIMENSION STYLE

GENERAL TOLERANCES SCALE DESIGN UNITS THRD ANGLE
(UNLESS SPECIFIED) MM ONLY 241 METRIC | © TIpROET 0N
mm INCH | DRAWN BY DATE TITLE
T PLACES[E—— [*-—-  [DWALSH 1111104 12X LATCH SALES DRAWING
3 PLACES |+ —- +- CHECKED BY DATE
2 PLACES[+010 |+~ KDELANEY 18/11/04
1PLACE [£0.2 +-—- APPROVED BY DATE
ANGULAR = 2 @ |MALLACE 25111104 @ MOLEX INCORPORATED

DRAFT WHERE APPLICABLE
WITHIN DIMENSIONS

MATERIAL NO.

SEE SHEET 48&5|SD-91525-004

DOCUMENT NO.

SHEET NO.

50F 5

SIZE

THIS DRAWNG CONTANS INFORMATION THAT IS PROPRIETARY TO MOLEX
/‘ INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A1_P_AM_T
Rev. D 2004/06/28

7

« ] o

1




